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SOCIOLOGY

Paper II
Time Allowed : 17 Hours] | [Maximum Marks : 100
Note :— All questions are compulsory. Each question carries fwo marks.
1. Which one of the following statements is right in context to sociology ?
(A) Sociology is a concrete science
(B) Sociology is an abstract science
(C) Both (A) and (B)
(D) None of the above. -
2. Who has defined sociology as the interpretative understanding of social
action ?
(A) Kimbal Young (B) Raymond Aron
(C) L.F. Ward (D) Max Weber
3 The principle of natural selec-tion was first applied in sociology by :
(A) Herbert Spencer (B) Radcliffe Brown
(C) Van Weise - (D) F. Tonnies
4, “Society is the web of social relationships”. Who said this ?

(A) Herbert Spencer (B) R.M. Maclver and C.H. Page

(C) A.L. Kroeber (D) Max Weber

T.B.C. : 36/13/ET . 2



_ woA-usl 11

g 1y T [qutes : 100
ﬁz:—atﬁmaﬁaﬁ’élmuﬁ‘%im%l |
L fe d R S e e wee § W@ R 2

(A) THEEE TF 99 faEd ¥

(B) GHNYTR UF g6 fawe €

(C) (A) W& (B) TF

(D) mﬁaaaﬂésﬁamn%"r#ﬁ%n
2 mﬁwaﬁmﬁﬁﬁmﬁﬁmﬁﬁuémﬁqﬁuﬁam

T ?
- (A) fa»'xamzin' B) Tvs T
(C) TA.TH.AE - @) T e

s fred g SHETE § wdvem wiEfae = & fysi wo@w e w2
(A) T TR (B) I=fF® wed
(C) df = (D) TH TH

4. “mmﬁmmw%ﬁ’ﬂwmm@%m%?
(A) T2 TR (B) IR.TH. HeEeR ddl HL.OE. U
(C) TUH. R (D) T qH

T.B.C. : 36/13/ET 3 P.T.O.



Which of the following is association ?

(A) Dowry System (B) Political Party

(C) Marriage ) | (D) Family

Who said, “Culture is social heritage” ?

(A) Broom and Selznic (B) Biesenz and Biesenz
(C) Gillin and Gillin (D) Park and Burgess
The book “The theory of: social structure” is authored by :

(A) Levi-Strauss (B) A.R. Radcliffe Brown
(C) S.F. Nadel (D) B. Malinowski

Who has given the concept of ‘Status Set’ ?

(A) R.K. Merton (B) Kingsley Davis

(C) R.M. Maclver ‘ (D) E. Durkheim

Who has classified the groups as in-group and out-group ?
(A) W.G. Sumner (B) Lester F.Ward

(C) C.H. Cooley (D) J.H. Fichter
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10. Who has classified status into “Ascribed” and “Achieved” ?
(A) Robert Bierstedt (B) Ralph Linton
(C) H.M. Johnson | (D) R.M. Maclver
11. “Primary groups are nurseries of human action.” This is stated by :
(A) H.M. Johnson (B) Herbert Spencer
(C) George Simmel (D) C.H. Cooley
12. Consider the following statements :
Assertion (A) : Institutions are Associations
Reason (B) : Institutions are Abstract
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) - (A) is false but (R) is true

13. The form of custom which prohibits an individual from marrying a person

outside his group is known as :
(A) Exogamy (B) Polygyny

(C) Endogamy | (D) Hypergamy
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14.  Consanguinity is known :
(A) by virtue of blood relationship
(B) by virtue of marriage relationship
(C) by virtue of residing in one household
(D) by virtue of birth in a kinship group

15.  “Socialization is that learning process which makes learner to become able

to perform social role.” Who said this ?
(A) Kingsley Davis (B) H.M. Johnson
(C) RK. Merton. (D) A.W. Green

16. Who has given the concept of anticipatory socialization ?
(A) R.K. Merton and A.S. Kitt (B) C.H. Cooley
(C) G.H..Mead (D) 8. Freud

17.  Who introduced the term ‘stateless society’ ?
(A) Paul Bohannan (B) Evans Pritchard
(C) A. Powell (D) A. Giddens

18.  According to Durkheim which one of the follow‘ing is a pre-requisite of modern

economic development ?
(A) Collective conscience (B) Collective representations

(C) Mechanical solidarity (D) Organic solidarity
T.B.C. : 36/13/ET 8
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19.. Dual organization as a functional stratification is prevalent among :
(A) Castes | | (B) Class
(C) Ethclass ~ (D) Tribes
20. The Estate System is a feature of :
(A) Post-industrial European Society
(B) Feudal Europe
(C) Indian Tribéi Society
(D) Ancient Egyptian Society

21. Change in the same direction is called :

(A) Cyclical Change ' (B) Linear Change
(C) Both (A) and (B) (D) None of these

22.  “Social change is called change in social relation.” Who said it ?
(A) K. Davis (B) - AW. Green

(C) R.M. Maclver and C.H. Page (D) Morris Ginsberg

I.B.C. : 36/13/ET 10
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23. Who among the following drew a distinction between ‘Social Structure’ and

‘Structural form’ ?

(A) Radcliffe Brown

(B) S.F. Nadel

(C) Edmund Leach

(D) Evans Pritchard
24.  ‘Structure and Functions in Primitive Society’ is written by :

(A) B.K. Malinowski ’ (B) Radcliffe Brown

(C) Ferdinand de Saussure (D) Claude Levi Strauss
25. Who has given the concept of ‘Functional Alternatives’ ?

(A) Talcott Parsons _ . (B) Robert K. Merton

(C) Albert Cohen (D) Emile Durkheim
26. Who regards ‘Deviance’ as functional for society ?

(A) Albert Cohen (B) Robert K. Merton

(C) Emile Durkheim (D) Radecliffe Brown

T.B.C. : 36/13/ET 12
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27.  Match the following statements with their authors/thinkers and choose the

correct answer from the codes given below :
Statements :

(1) Social structure is a model ?ehind reality
(2) Social structure is a reality itself

(3) A social system is a system of social action

(4)  Function is the contribution in which a partial activity makes to the

total activity
Authors/thinkers :
(i)  Radecliffe Brown
(zz)  Levi-Strauss
(i) S.F. Nadel

(iv) Talcott Parsons

Codes :
(1) (2) (3) (4)
(A) (1) (i) (iv) (@)
(B) (@) (@) (u21) (iv)
(C) (iv) (iii) (i) (i)
(D) (if) (iv) (iif) @
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29.

30.

31.

Symbolic interactionism gives emphasis on :

(A) Culture

(B) External determinants of bahaviour

(C) The structural units of society

(D) The subjective process

Who uéed the method of ‘Verstehen’ ?

(A) Karl Marx : (B) Max Wéber
(C) G._ Simmel (D) H. Spencer
Karl Marx’s historicai materialism means :

(A) Historical evolution of matter

(B) Economic Interpretation of History

(C) Historical phenomena can be reduced to matter
(D) Historical consciousness is a pre-requisite for material development
Which of the following pairs is not correctly matched ?
(A) G.H. Mead and Symbolic Interactionism

(B) Herbert Blumer and Symbolic Interactionism

(C) E.Durkheim and Functionalism

(D) Max Weber and Social Fact
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32.  According to Karl Marx, which one of the following is not a dimension of

alienation ?
(A) Alienation from Production
(B) Alienation from Labour
(C) Alienation from Nature
(D) Alienation from Self
33. Who has talked about ‘Decomposition of Labour’ ?
(A) Karl Marx (B) G. Simmel
(C) Coser | (D) R. Dahrendorf
34. What is the main aim of social research ?
(A) Helpful in social change
(B) Solution of social problems
(C) Gain to knowledge and verification
(D) Controlling the society -
35.  Which is not the characteristic of scientific method ?
(A) Verifiability . (B) Objectivity

(C) Generality (D) Alertness
T.B.C. : 36/13/ET 18
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36.  Collecting information for knowledge’s sake is termed as :
(A) Applied Research
(B) Pure Research
(C) Empirical Res;aarch ?
(D) Valid Research

37. - The role of statistical methods in the study of sociology is to increase

the :

(A) Objectivity

(B) Sophistication

(C) Questionnairé

(D) None of the above

38.  Who said “Social Research is a systematic method of exploring, analysing and

conceptualising social life” ?
(A) P.V. Young

(B) <Lundberg

(C) Stevenson

(D) Alpert

T.B.C. : 36/13/ET 20
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41.

42.

The reliability of data is not associated with :

(A) Test-retest reliability

(B) Internal consistency _reiiability

(C) Split-half reliability

(D) Content-level reliability
Observation means to see things :

(A) with a 'purpose (B)
(C) with many purposes (D)
Case study is a form of :

(A) Qualitative Analysis (B)

(C) Objective Analysis (D)

without a purpose

for fun sake

Overt Analysis

Quantitative Analysis

Who developed experimental research in Sociology 7

(A) E. Durkheim (B) J.S. Mill

(C) R.K. Merton (D)

T.B.C. : 36/13/ET 22
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43. What is not true of Diagnostic Research Design ?
(A) to investigate facts
(B) to enquire about facts
(C) to formulate theory
(D) to seek solution of problem
44. When the list of questions is filled by the researcher himself, it is called

(A) Questionnaire
(B) Schedule
(C) Mailed questionnaire
(D) Open questionnaire
45.  Who said, “Working hypothesis is the first step in scientific method” ?
(A) R.K. Merton (B) P.V.' Young
(C) G. Lundberg (D) A. .Comte
46. Participant observation is related to :

(A) Interview (B) Survey

(C) Field work (D) Schedule

T.B.C. : 36/13/ET 24
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50.

Which of the following is not a type of non-probability sample ?
(A) Convenience sample

(B) Sygtematic sample

(C) Snow ball sample

(D) Haphazard sample

When high scores on one variable coincide with low scores on the other, 1

i8 & a6 Of:.cusinasiaiasisiies ‘

(A) Inverse relationship (B} Positive relationship

(C) Curvilinear relationship (D) No relationship

A tentative statement which is liable to prove or disprove is called :
(A) Concept (B) Hypothesis

(©) Assumption (D) Ideal type

In a colony family overtime are classified as 0-4, 5-9, 10-14, 15-19, 20-2

YVOREE covnersnanssnsss the series of data is called :
(A) Discrete series (B) Continuous series
(C) Classification series (D) Quantitative classification
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